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Fill in the blanks:
B~ oehdcs

9 7

-+ 4 3

-+ 7 4

7 9
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— 3 1

4

(a)

9 3 (b)
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Huang2014
图章

WHuang
Typewriter
18(1)-2

Huang2014
线条

Huang2014
图章

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Typewriter
Fill in the blanks:
填入正确数字：

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huangs2016
Stamp

Huangs2016
Stamp

Huangs2016
Stamp

Huangs2016
Stamp

Huangs2016
Stamp

Huangs2016
Stamp

WHuang
Stamp

WHuang
Stamp




